Phenotype Data Analysis Plots
PhenoData day range = 10 - 38
Analysis cutoff day = 38
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FrV: model Est vs obsFrV at Q90

40 4+ —— 050
FrOl_est
® Fr05 est
30 A
®
20 A ¢
10 -
15 16 17 18 19 20

age




FrV: obsFrV vs obsFrV@Q90

40 + —— 050
FrOl_avg
() FrO5_avg
30 A =
20 A
10 A
—
15 16 17 18 19 20

age




FrV: D _Frl FrV
organiD=1

0.5 1

0.0 A

-0.5 A

-1.0

-1.5

17 18
age




P10AE FrV: D_Frl_FrV

—4— pcrDelta_avg
-20 A pcrDeltaAdj avg

-40 1
-60 1

-80 A

-100 -

33.5 34.0 34.5 35.0 35.5 36.0 36.5



FrV: D_Ts_FrV
organiD=1

1.0

0.8 A

0.6

0.4 1

0.2 1

Warning: col ['d2avg’, 'd2aavg'] missing

0.0
0.0

0.2

0.4

0.6

0.8

1.0



FrV: D_Q50_FrV

organiD=1
0.4 - —4— d3avg
—4— d3aavg

0.2 A

00 F—————— e e = = e e e e e e e ]
-0.2 A

-0.4

15 16 17 18 19 20

age



P10OAE FrV: D_Q50_FrV

—4— pcrDelta_avg

300 —}— pcrDeltaAdj_avg
200 A
100 A
|
1
0 ______+: __________________________________________________________________________________________________
35 36 37 38 39 40




FrV: D_Est_FrV

organiD=1
l
—1
| —4— ddavg
r —— ddaavg
15 16 17 18 19 20

age



35.0 -

36.0 -

37.0 -

38.0 -

39.0 -

40.0 -

40

-20

--20



15.0 -

17.0 -

19.0 -

21.0 -

23.0 -

25.0 -

27.0 -

29.0 -

31.0 -

33.0 -

e
o)
m

37.0

39.0



